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ENGLISH (Core)
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper has 13 questions. All questions are compulsory.

(it) This question paper contains three sections — Section A : Reading Skills,
Section B : Creative Writing Skills and Section C : Literature.

(iti) Attempt all questions based on specific instructions for each part. Write the
correct question number and part thereof in your answer sheet.

(iv) Separate instructions are given with each question/part, wherever necessary.

(v) Adhere to the prescribed word limit while answering the questions.
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SECTION A
Reading Skills (20 marks)

1. Read the passage given below :

1 The art of conversation, like any art, is a skill of elegance, nuance and
creative execution. I happen to believe that there is an art to
everything we do, and why not ? Without flair and panache most things

become a drudgery. Why settle for drudgery when you can have art ?

2 When it comes to the art of conversation, we’ve all met people who
seem to have the knack for it. They can talk to anybody about anything
and they seem to do it with complete ease. And while it’s true that
there are those who are born with the gift of the gab, luckily for the rest

of us, conversation skills can be developed and mastered.

3 Conversation is a form of communication; however, it is usually more
spontaneous and less formal. We enter into conversations for purposes
of pleasant engagement in order to meet new people, to find out
information and to enjoy social interactions. As far as types of
conversation, they vary anywhere from intellectual conversations and

information exchanges to friendly debates and witty banter.

4 While there is more to having good conversation skills than being a
comedian, a dramatic actor, or a great story teller, it is not necessary to

become more gregarious, animated, or outgoing.

5 Instead, you can develop the ability to listen attentively, ask fitting
questions, and pay attention to the answers — all qualities essential to
the art of conversation. With diligent practice and several good

pointers, anyone can improve his or her conversation skills.

6 People who are genuinely interested in others are usually interesting
themselves. Why ? Because they are more open to learning about and
understanding new things. Showing interest also encourages the other
person to be relaxed and share information more freely. Display

attentiveness by keeping good eye contact and listening actively.
1/C/3 2
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7 If you happen to be shy and need time to warm up before you share
your own views, you can ask open-ended questions or encourage the
other person to elaborate on their insights. This kick-starts the
conversation and before you know it you are engaged in a good
conversational flow.

8 To start a conversation, go up to someone and introduce yourself. It is
both polite and necessary to start off things smoothly.

9 When the occasion calls for it, you can offer a handshake and then
smile and make eye contact. Being friendly puts the other person at
ease and opens the door for him or her to introduce themselves.

10 The art of conversation, like any skill, takes practice. Period. Do not
expect to be adept after your first few attempts. It will take practice as
well as exposure to many different social situations.

Based on your understanding of the passage, answer the questions given
below. 10x1=10

i) Complete the sentence by choosing an appropriate option :
The art of conversation is a skill of _
(a)  uniformity and compatibility
(b)  friendliness and consensus
(c) assertion and ease

(d)  sophistication and creativity

(11) Comment on the writer’'s reference to conversation skills as
something you are ‘born’ with.

(iii) List two reasons why people enter into conversation.

(iv) Select the option that conveys the opposite of ‘witty’, as used in

paragraph 3.

(a) educated
(b) creative
(c) ignorant
(d) boring
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The writer would not agree with the given statements based on
paragraphs 3 to 5, except

(a) Conversations are meant only for purposes of research.
(b) It is important to be outgoing to be a good conversationist.
(c) Conversational skills can be improved with regular practice.

(d) Attentive listening is important only while debating.

According to the author, showing interest in others leads to
interesting conversation.

Based on your understanding of paragraphs 5 and 6, list one way
how a good listener can make the other person speak more freely.

How can one warm up before one shares one’s views ?

Complete the given sentence with an appropriate inference, with
respect to the following :

The writer gives an example of going up to someone and introducing
oneself in order to

How can the ways to start a conversation, as suggested in the
passage, be best described ?

(a) challenging

(b) practical

(c) exhausting

(d) humbling

Select the most suitable title for the above passage.
(a)  Conversation — A Challenging Pursuit

(b)  Conversation vs Communication

(c) Effective Listening

(d) Mastering the Art of Conversation

Read the passage given below :

1 Travel today, whether for purposes of business or leisure, takes up

25 — 30% of the annual budget of a family, according to a survey conducted
in 2021.

2 Today, it is trending to spend money on experiences rather than

consumables. Travel is no longer looked at as just visiting a new place. It

underlines an ethos, a culture, a pandora’s box full of surprises. People who

1/C/3
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love to travel enjoy relaxation, new cultures, foreign food or incredible
landscapes different from their normal surroundings. Some people enjoy
the motion of travelling, being on a boat, plane, train or bus. The list is
endless and the reasons range from simple to complex. The study further
revealed changing trends in travel tourism. While some are serious
travellers who fall under the category of medical tourism, a large
percentage are splurging on pleasure travel. When questioned on why,
what are the benefits or purpose, the responses can be categorized under a

few common headings.

3 Those who do it for fun, for a sense of adventure, to take on risks and
challenges are the 18 — 30 year-olds. While the 30 — 40 years bracket
couple fun with education, a thirst for knowledge and experience — to see
beautiful places, explore cultures and cuisines. They believe that an
ever-changing environment is stimulating, refreshing and brings endless
learning opportunities. Those between the 40 — 50 years travelled to
expand their minds and challenge perspectives. They want a break from
their soul-destroying lifestyles. The 60 years and above were the NOW
travellers — they feel they might drop dead the day before they retire or be
too old and unfit to travel, or take on, physical challenges. The in-between
50 — 60 years adopt the best of both worlds.

4 The survey concluded that travel has become an integral part of people’s
lives, and it provides us our greatest stories, our most cherished moments
and countless learnings that broaden our horizons and above all teach us
about ourselves and others.

Age-wise distribution of holiday-goers in percentages
Age Adventure | Education | Relaxation | Now Travellers
Below 20 39 38 6 17
20 -30 44 28 12 16
30 -50 25 24 30 21
Above 50 8 10 40 42

1/C/3 < B <« P.T.O.
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Based on your understanding of the passage, answer the questions given
below : 10x1=10

i) Does the following statement agree with the information given in

paragraph 1 ?

25 — 30% of people have adopted a long term travel lifestyle and

have accordingly prioritised their budgets.

Select from the following :
L. True — If the statement agrees with the information.
I1. False — If the statement contradicts the information.

ITIT. Not Given — If there is no information on this.

(ii1) Do you think the researchers of the survey aimed to popularise a
particular type of tourism? Support your answer with reference to
the text.

(i1i) Select the option that displays the most likely reason for people to

make travel budgets.

(a)  In order to gain relief from work pressure.
(b)  Learn about new people and their language.
(c) Buy the latest designs in the market.

(d) Undertake journeys that give relaxation, adventure, or

knowledge.

(iv) Complete the sentence based on the following statement :

Travel today, underlines an ethos, a culture, a Pandora’s box full of

surprises. We can say this because

1/C/3 - 6 =~
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(v)  Select the option from the table that displays the most popular
reason for travelling for the 30 — 50 year-olds.

(vi) Complete the given sentence by selecting the most appropriate
option :

The 2021 survey aims to identify

(a)  the most popular tourist travel destination.
(b)  the age group that travels the most.

(c) the different reasons why people travel.

(d)  the challenges of the travel tourism industry.

(vii) The reasons why people travel led to individual responses. List one
way in which 18 — 30 year-olds satisfy their yearning for adventure.

(viii) Complete the given sentence by selecting the most appropriate
option :
The concluding sentence of the text makes a clear case for

by listing it as the underlying feature of all forms of travel.
(a)  competency
(b)  universality
(c) expenditure

(d)  acceptability

(ix) Complete the sentence appropriately with one/two words :

In the context of ‘Education’ in the given table, the

year-olds are least interested in it.

(x) Based on the reading of the text, state a point to challenge the given

statement.

People feel they can travel whenever they want, at any time in their

lives.

1/C/3 7 P.T.O.
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SECTION B

Creative Writing Skills (20 marks)

3. Attempt any one from (A) and (B) given below :

(A)

(B)

Your school is planning to organise an educational trip to the
Natural History Museum for Class 6. As President of the History
Society of Rosewood Public School, draft a notice in about 50 words
informing students about the details of the trip. Mention the day,

date, time and venue. You are Manoj/Mira.
OR

You are Aman/Archana, President of the Drama Club of Oxford
Public School, Bengaluru. On the occasion of Children’s Day, your
club is planning to visit and old-age home. Draft a notice in about
50 words informing the members of the visit and asking them to
bring some food items to share with the residents. Mention the day,

date, time and venue.

4. Attempt any one from (A) and (B) given below :

(A)

(B)

1/C/3

You are planning to celebrate your parents 25 wedding
anniversary. Draft an invitation card in about 50 words that is to be
sent to friends and relatives. Mention the day, date, time and venue.

You are Salma/Zubair.
OR

You have received an invitation to a party hosted by your friend on
the occasion of his promotion as director in his job. Write an
informal reply in about 50 words accepting the invitation. You are

Vandita/Viraj.
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5. Attempt any one from (A) and (B) given below :

(A)

(B)

1/C/3

[E5E

&
E:I.

You are Deepak/Diya. You saw the given advertisement in the
newspaper and wish to apply for the position advertised. Write an

application in 120 — 150 words with bio-data submitting your

candidature.
SARA SOFTWARE TECHNOLOGY
POST: JUNIOR ENGINEER
QUALIFICATIONS * B.Tech. in Computer Science

* 3 Years experience
* Fluency in English and Hindi

* Good interpersonal skills

Apply within 10 days with detailed bio-data to
Director, HR, SARA SOFTWARE TECHNOLOGY

OR

Though the number of children who are educated is increasing, they
have poor communication skills. This is a matter of great concern.
Write a letter in 120 to 150 words to the editor of a national daily
expressing your concerns on the matter and suggesting ways of
improving the reading habits of children. You are Jayant/Jayanti.

You may use the cues given below.

IMPACT OF MOBILE PHONES AND TECHNOLOGY ON COMMUNICATION

SKILLS

PROBLEM IMPACT

e Use short forms

e Cannot express themselves

e Can’t express themselves

e Impacts employability opportunities

e Use emojis to express themselves

e Impacts social interaction

2 2
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6. Attempt any one from (A) and (B) given below :

(A)

(B)

1/C/3

Teenagers nowadays are full of energy and enthusiasm. However,
their energy needs to be channelized in the right direction. Write an
article in 120 — 150 words on the topic ‘Channelising the Energy of
Teenagers’. You are Sandeep/Sandhya. You may use the following
cues.

Problem Solution

Early access to technology |e Keep them busy in productive

activities
e Too much freedom e Engage in useful hobbies
e Lack of purpose e Focus on purpose and values
e Casual attitude e Open communication channels

OR
You are the student reporter of SSB School, Guwahati. Your school
recently organised a science exhibition. Write a report of the
exhibition to be published in the school magazine in
120 — 150 words. You are Manas/Madhusmita. You may use the cues
given below.

SCIENCE EXHIBITION

SATURDAY, 15™ MARCH, 2023

VENUE - MULTI-PURPOSE HALL
INAUGURATION BY Dr. BOSE (leading scientist)
PHYSICS )
CHEMISTRY Projects

BIOLOGY

COMPUTERS

Working models and charts

Display of Robots

2 2
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SECTION C

Literature (40 marks)

7. Attempt any one of the two extracts (A) and (B) given below :

(A)

1/C/3

Read the following extract and answer the questions that follow : 6xI1=6
Driving from my parent’s

home to Cochin last Friday

morning, I saw my mother,

beside me,

doze, open mouthed, her face

ashen like that

of a corpse and realised with

pain

that she was as old as she

looked but soon

put that thought away, and

looked out at Young

Trees sprinting, the merry children spilling
out of their homes.

i) Choose the option that displays the same poetic device as used
in the extract.
(a) deafening silence (b) swaying softly and slowly
(c) pitter-patter rain (d) as white as snow

(i)  What does the phrase ‘realise with pain’ indicate ?
(a) guilt (b) anguish
(c) wounded (d) revelation

(iii) The poet describes her mother as

L. old

II. wise

III. quick

IV. weak

V. strong

Choose the most appropriate option :

(a) TandIV (b) ITandV
(c) IIIlandIV (d) TIandV

—— 1 1 - P.T.O-
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(iv) Answer in one word.

On seeing her mother dozing, open mouthed, the poet felt

(v)  The merry children symbolise all of the following except
(a) freedom and energy
(b) playfulness and cheerfulness
(c) vigour and health

(d) maturity and innocence

(vi)  Which of the following is an apt title for the extract ?
(a) Spring and Winter
(b) Merry Thoughts
(c) Trip to Cochin
(d) My Beautiful Mother

OR

(B) It would be an exotic moment
without rush, without engines,
we would all be together

in a sudden strangeness. 6x1=6

(1) What does ‘it’ refer to ?
(a) travelling in the train
(b) spending time together
(c) moment of silence
(d) without rush

(ii) Complete the analogy correctly. DO NOT repeat the used
example.

Without rush, without engines : repetition ::

Sudden strangeness :

1/C/3 ~ 12 =
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(iii) Identify the phrase from the extract which suggests ‘no hustle
and bustle’.

(iv) Who is ‘we’ referred to ?
(a) all human beings
(b) fishermen
(c) people who create war
(d) poets who write poems

(v) On the basis of the extract, choose the correct option with
reference to I and II.

L. There is an urgent need for mankind to introspect and

live in harmony.
II.  We should put an end to all destructive activities.
(a) Iistrue but Il is false
(b) IIis true but I is false
(¢) Both I and II are true
(d) Both I and II are false

(vi)  Fill in the blank with one word with reference to the context.

The moment when everyone keeps silent will be __

8. Attempt any one of the two extracts (A) and (B) given below :

(A) Read the following extract and answer the questions that follow :  4x1=4

To make sure, I walked over to a newsboy and glanced at the stack of
papers at his feet. It was The World, and The World hasn’t been
published for years. The lead story said something about President
Cleveland. I've found that front page since, in the Public Library
files, and it was printed June 11, 1894.

1/C/3 < 13 = P.T.O.
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(1) Answer in one word :
The World is the name of a that the narrator
glanced at.

(ii)  Complete the sentence :

The significance of the year 1894 was

(iii) The phrase ‘Lead Story’ means

(a)
(b)
(c)
(d)

story about VIPs
story about the President
news given greatest prominence

news read by a prominent actor

(iv)  Identify the textual clue that allows the reader to infer that the
author had reached the third level. (Clue : a line)

Read the following extract and answer the questions that follow :

OR

Derry Not in a fire, I got acid all down that side of my face
and it burned it all away. It ate my face up. It ate me
up. And now its like this and it won’t ever be any
different.

Mr. Lamb No

Derry Aren’t you interested ?

Mr. Lamb You’re a boy who came into the garden. Plenty do. I'm
interested in anybody. Anything. There’s nothing God
made that doesn’t interest me. Look over there... over
beside the far wall. What can you see?

(1) Complete the sentence appropriately, with reference to the

extract.

Derry refers to acid eating him up because

%% %%
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(i1)  Derry tells Mr. Lamb, ‘Aren’t you interested?’
What are the things that interest Mr. Lamb as per the extract ?
(iii) Select the option that best describes Derry and Mr. Lamb in
the extract.
(a) Derry : bitter ; Mr. Lamb : positive
(b) Derry : friendly ; Mr. Lamb : talkative
(c) Derry : scared ; Mr. Lamb : authoritative

(d) Derry: mature ; Mr. Lamb : calm

(iv)  Which of the following is an apt title for the extract?
(a) Acid and Fire
(b) Boy who came to the garden
(c) God and his Presence
(d) Different Interests

9. Attempt any one of the two extracts (A) and (B) given below :

(A) Read the following extract and answer the questions that follow :  6xI1=6

He had gone to the December 1916 annual convention of the Indian
National Congress party in Lucknow. There were 2,301 delegates and
many visitors. During the proceedings, Gandhi recounted, “a peasant
came up to me looking like any other peasant in India, poor and
emaciated, and said, I am Raj Kumar Shukla. I am from

Champaran, and I want you to come to my district’!”
(1) Which of the following do you infer from the last sentence ?
(a) Champaran was a major city.

(b) Champaran was a popular destination.

(c) He wanted the Indian National Congress to be in
Champaran.

(d) There was a problem in Champaran which needed
Gandhi’s attention.

1/C/3 < 15 <« P.T.O.
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(ii)  Select a suitable word from the extract to complete the
following analogy.

adventurous : risk-taking :: starved :

(iii)) On the basis of the extract, choose the correct option with
reference to I and II

L. Raj Kumar Shukla met Gandhi during the proceedings of
the annual convention of Indian National Congress.

II. Raj Kumar Shukla was a lawyer from Champaran.
(a) Iistrue but II is false.
(b) IIis true but I is false.
(c) Both I and II are true.
(d) Both I and II are false.

(iv) The purpose of Raj Kumar Shukla’s visit was to

(v) Rewrite the sentence by replacing the underlined phrase with
its inference.

A peasant came up to me looking like any other peasant.

(vi) Answer in one word.
Gandhi met Shukla in

OR
(B) Read the following extract and answer the questions that follow :  6xI1=6

The ironmaster assumed that he felt embarrassed because of his
miserable clothing.

“Please don’t think that I have such a fine home that you cannot
show yourself there.” He said.... “Elizabeth is dead, as you may
already have heard. My boys are abroad, and there is no one at home
except my oldest daughter and myself. We were just saying that it
was too bad we didn’t have any company for Christmas. Now come
along with me and help us make the Christmas food disappear a little
faster.”

But the stranger said no, and no again no, and the ironmaster,
saw that he must give in.

1/C/3 <16
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(1) Select the option that completes the given sentence
appropriately.
The iron master assumed that the peddler did not want to

come to his home because

(a) the peddler had something to hide.

(b) the peddler had a shabby appearance.

(c) the peddler feared his secret would be out.

(d) he lived alone with his daughter.

(ii)  The peddler’s refusal to accompany the ironmaster made the

ironmaster

(a) angry.

(b)  more stubborn.
(¢) feel humiliated.

(d) accept defeat.

(iii)) On the basis of the extract, choose the correct option with

reference to the two statements given below.

L. The ironmaster has a very expensive home.

II. The ironmaster looked forward to company at Christmas.
(a) I can be inferred from the extract but II cannot.

(b) I cannot be inferred from the extract but II can.

(¢) Iistruebut Il is false.

(d) IIis the reason for 1.

1/C/3 17 = P.T.O.
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(iv) Select the suitable word from the extract to complete the
following analogy.

dead : alive : : appear :

(v)  Identify the textual clue that allows the reader to infer that the
ironmaster is sympathetic towards the peddler.

(vi) Based on the above extract choose the statement that is true

for the ironmaster.

(a) He is a good judge of character.

(b) He prefers spending Christmas with this family.
(c) He is soft spoken and compassionate.

(d) He is firm and decisive.

10. Answer any five of the following in about 40 — 50 words each : 5x2=10

(a) What was strange and unusual about M. Hamel’s dress and conduct
on the last day ? (The Last Lesson)

(b)  Why were Aunt Jennifer’s fingers fluttering ? What does this speak
of her married life ? (Aunt Jennifer’s Tigers)

(c) What does Anees Jung mean by the expression ‘children becoming
partners in survival ?” (Lost Spring)

(d) How does nature contribute to our good health ? (A Thing of Beauty)

(e) Why was Jansie feeling sad when she heard about Sophie’s desire to
open a boutique ? (Going Places)

(f) What does Robert Frost mean by the expression ‘Selfish Cars’ ?
What poetic device is used in this expression ? (A Roadside Stand)

11. Answer any fwo of the following in about 40 — 50 words each : 2x2=4
(a)  What did Charley learn about Sam from the stamp and coin store ?
(b)  Why did Zitkala-Sa resist the shingling of her hair ?

(¢) What did Dr. Sadao and Hana see come out of the mist ? How did
they react ?

1/C/3 <18 =
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12. Answer any one of the following in about 120 — 150 words :
(a) Saheb and Mukesh are victims of the apathy of the Government and

society. Support your answer with a rationale.

OR

(b) What attributes of Subbu raised him to the status of No. 2 at Gemini

Studio ? Substantiate your answer with evidence from the text.

13. Answer any one of the following in about 120 — 150 words :

(a) ‘Tiger King’ is the story of a leader who is whimsical and autocratic.

Justify the above statement quoting evidences from the text.
OR

(b) How is visiting Antarctica important to understand the Earth’s past,

present and future ? Support your answer with a rationale.

1/C/3 <19 =
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Strictly Confidential
(For Internal and Restricted use only)
Senior Secondary School Supplementary Examination, July- 2023
SUBJECT NAME: ENGLISH CORE (301)
(QUESTION PAPER CODE - 1/C/3)

General Instructions: -

1.

You are aware that evaluation is the most important process in the actual and
correct assessment of the candidates. A small mistake in evaluation may lead to
serious problems which may affect the future of the candidates, education system
and teaching profession. To avoid mistakes, it is requested that before starting
evaluation, you must read and understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality
of the examinations conducted, evaluation done and several other aspects. Its
leakage to public in any manner could lead to derailment of the examination
system and affect the life and future of millions of candidates. Sharing this
policy/document with anyone, publishing in any magazine and printing in
News Paper/Website etc may invite action under various rules of the Board
and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It
should not be done according to one’s own interpretation or any other consideration.
Marking Scheme should be strictly adhered to and religiously followed. However,
while evaluating, answers which are based on latest information or knowledge
and/or are innovative, they may be assessed for their correctness otherwise
and due marks be awarded to them. In class-Xll, while evaluating two
competency-based questions, please try to understand given answer and even
if response is not from marking scheme but correct competency is
enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These
are in the nature of Guidelines only and do not constitute the complete answer. The
students can have their own expression and if the expression is correct, the due
marks should be awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should
be zeroed to after deliberation and discussion. The remaining answer books meant
for evaluation shall be given only after ensuring that there is no significant variation
in the marking of individual evaluators.

Evaluators will mark( V' ) wherever answer is correct. For wrong answer CROSS ‘X”
be marked. Evaluators will not put right (v)while evaluating a wrong answer which
gives an impression that answer is correct and no marks are awarded. This is the
most common mistake which evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part.
Marks awarded for different parts of the question should then be totalled up and
written in the left-hand margin and encircled. This may be followed strictly.

If a question does not have any parts, marks must be awarded in the left-hand
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margin and encircled. This may also be followed strictly.

9. If a student has attempted an extra question, answer of the question deserving more
marks should be retained and the other answer scored out with a note “Extra
Question”.

10. If more than one option is mentioned in the answer of multiple choice questions,
then no marks are to be awarded.

11. No marks to be deducted for the cumulative effect of an error. It should be penalized
only once.

12. A full scale of marks 0-80 marks as given in Question Paper has to be used. Please
do not hesitate to award full marks if the answer deserves it.

13. Every examiner has to necessarily do evaluation work for full working hours i.e., 8
hours every day and evaluate 20 answer books per day in main subjects and 25
answer books per day in other subjects (Details are given in Spot Guidelines).

14. Ensure that you do not make the following common types of errors committed by the
Examiners in the past:-

e Giving more marks for an answer than assigned to it.

e Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title
page.

e Wrong question-wise totaling on the title page.

e Leaving answer or part thereof unassessed in an answer book.

e Wrong totalling of marks of the two columns on the title page.

e Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick
mark is correctly and clearly indicated. It should not merely be a line. Same is
with the X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

15. While evaluating the answer books if the answer is found to be totally incorrect, it
should be marked as cross (X) and awarded zero (0)Marks.

16. Any unassessed portion, non-carrying over of marks to the title page, or totalling
error detected by the candidate shall damage the prestige of all the personnel
engaged in the evaluation work as also of the Board. Hence, in order to uphold the
prestige of all concerned, it is again reiterated that the instructions be followed
meticulously and judiciously.

17. The Examiners should acquaint themselves with the guidelines given in the
“Guidelines for spot Evaluation” before starting the actual evaluation.

18. Every Examiner shall also ensure that all the answers are evaluated, marks carried
over to the title page, correctly totalled and written in figures and words.

19. The candidates are entitled to obtain photocopy of the Answer Book on request on

payment of the prescribed processing fee. All Examiners/Additional Head
Examiners/Head Examiners are once again reminded that they must ensure that
evaluation is carried out strictly as per value points for each answer as given in the
Marking Scheme.
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MARKING SCHEME
Senior Secondary School Supplementary Examination, July-2023
ENGLISH CORE (Subject Code-301)
[Question Paper Code : 1/C/3]

Maximum Marks: 80
IMPORTANT INSTRUCTIONS:
1. The answers given below are suggestive. Credit should be given for any relevant point which is not
included in the value points listed below. However, any independent interpretation should be
discussed with the HE before awarding marks.
2. No marks shall be deducted for exceeding the word-limit.
3. If a spelling error is recurring, it should be penalized only once.

20

Section-A (Reading) MARKS

NOTE: The objective of the reading section is to focus on testing a
candidate’s ability to comprehend. No mark(s) should be deducted for
mistakes in usage and grammar, spelling or word-limit. Full marks may be
awarded if a student has been able to identify the core ideas. If a student
literally lifts a portion of the given passage as an answer to a question, no
mark(s) to be deducted for this, as long as it is relevant.

PASSAGE-1

Q.NO. SUGGESTED VALUE POINTS

1 Based on your understanding of the passage, answer the questions 10x1=10
given below :- MARKS

Q.() Complete the sentence by choosing an appropriate option :
The art of conversation is a skill of

(a) uniformity and compatibility

(b) friendliness and consensus

(c) assertion and ease

(d) sophistication and creativity

Ans.(i) (d) sophistication and creativity 1

. (i omment on the writer’s reference to conversation skills as
Q. G) |c t on th ter’s refi t tion skill
something you are ‘born’ with.

Ans.(ii) not only born with gift of gab/ innate, can be developed/ mastered 1

Q. (iii) | List two reasons why people enter into conversation.

Ans.(iii) | pleasant engagement/ meet new people/ find out information/ enjoy social Vil
interaction/ form of communication

(any two)

Q. (iv) | Select the option that conveys the opposite of ‘witty’ as used in
paragraph 3.
(a) educated

(b) creative
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a/c/3)
(c) ignorant
(d) boring
Ans.(iv) (c) ignorant 1
Q.(v) The writer would not agree with the given statements based on
paragraphs 3 to 5, except
(a) Conversations are meant only for purposes of research.
(b) It is important to be outgoing to be a good conversationist.
(¢) Conversational skills can be improved with regular practice.
(d) Attentive listening is important only while debating.
Ans.(v) (c) Conversational skills can be improved with regular practice. 1
Q.(vi) According to the author, showing interest in others leads to
interesting conversation.
Based on your understanding of paragraphs 5 and 6, list one way
how a good listener can make the other person speak more freely.
Ans.(vi) - ask fitting questions 1
- pay attention to the answers
- showing interest encourages other to be relaxed
- display attentiveness
- keep good eye contact
- listen actively
(any one)
Q.(vil) | How can one warm up before one shares one’s views ?
- ask open-ended questions
- encourage other person to elaborate !
Ans.(vii) | - go up to someone and introduce yourself
- be polite
(any one)
Complete the given sentence with an appropriate inference, with
Q.(viii) respect to the following :
The writer gives an example of going up to someone and
introducing oneself in order to
put other person at ease to start a conversation/ be polite/ start off things 1
Ans.(viii) | smoothly
(any one)
How can the ways to start a conversation, as suggested in the
passage, be best described ?
Q.(ix) | (a) challenging
(b) practical
(c) exhausting
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(d) humbling

Ans.(ix) | (b) practical !
Select the most suitable title for the above passage.
(a) Conversation A Challenging Pursuit

Q.(x) | (b) Conversation vs Communication
(c) Effective Listening
(d) Mastering the Art of Conversation
Ans.(x) (d) Mastering the Art of Conversation 1
PASSAGE-2
Based on your understanding of the passage, answer the questions 10x1=10
2, given below : MARKS

Q.() Does the following statement agree with the information given in
paragraph 1 ?
25-30% of people have adopted a long term travel lifestyle and
have accordingly prioritised their budgets.
Select from the following :
L. True- If the statement agrees with the information.
I1. False- If the statement contradicts the information.
II1. Not Given- If there is no information on this.

Ans.(i) | II. False- If the statement contradicts the information. 1

Q. () | pg you think the researchers of the survey aimed to popularise a

particular type of tourism? Support your answer with reference to the
text.

Ans.(ii) | - No, changing trends/ different kinds of tourisms — for relaxation/ new
cultures/ foreign food/ incredible landscapes/ medical tourism/ pleasure travel/
medical purposes 1
(any other relevant point)

Q. (ii)) | Select the option that displays the most likely reason for people to
make travel budgets.
(a) In order to gain relief from work pressure.
(b) Learn about new people and their language.
(c) Buy the latest designs in the market.
(d) Undertake journeys that give relaxation, adventure, or knowledge.

Ans. (iii) (d) Undertake journeys that give relaxation, adventure, or knowledge. |

Q. (iv) Complete the sentence based on the following statement :
Travel today, underlines an ethos, a culture, a Pandora’s box full of
surprises. We can say this because

Ans.(iV) | _jt is trending to spend on experiences. 1
- people travel for visiting a new place/ relaxation / new cultures/ foreign
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food/ incredible landscapes/ medical tourism/ pleasure travel
(any one)
(any other relevant point)

Q.(v)

Select the option from the table that displays the most popular reason
for travelling for the 30-50 year-olds.

Ans.(v)

relaxation

Q.(vi)

Complete the given sentence by selecting the most appropriate
option :

The 2021 survey aims to identify

(a) the most popular tourist travel destination.

(b) the age group that travels the most.

(c) the different reasons why people travel.

(d) the challenges of the travel tourism industry.

Ans.(vi)

(c) the different reasons why people travel.

Q.(vii)

The reasons why people travel led to individual responses. List one
way in which 18-30 year-olds satisfy their yearning for adventure.

Ans.(vii)

taking on risks/ challenges/ adventurous activities
(any one)
(any other relevant point)

Q. (viii)

Complete the given sentence by selecting the most appropriate
option :
The concluding sentence of the text makes a clear case for

by listing it as the underlying feature of all forms of
travel.

(a) competency
(b) universality
(¢) expenditure
(d) acceptability

Ans.(viii)

(b) universality

Q.(ix)

Complete the sentence appropriately with one/two words:

In the context of ‘Education’ in the given table, the
year-olds are least interested in it.

Ans.(ix)

above 50

Q.(x)

Based on the reading of the text, state a point to challenge the given
statement.

People feel they can travel whenever they want, at any time in their
lives.

Ans.(x)

NOW travellers feel

- they might drop dead the day before they retire / too old and unfit to travel/
unfit to take on physical challenges (any one)
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SECTION-B (WRITING SKILLS)

20
marks

OBJECTIVE:
e To test the ability to think logically and express oneself clearly.

e To use a style appropriate to the given situation.

e To plan, organize and present ideas coherently.

Q.3

Attempt any one from (A) and (B) given below :

NOTICE WRITING

Distribution of marks
Format -1 Content - 3 Expression - 1

FORMAT - Name of issuing authority- organisation/ agency, NOTICE,
heading (optional), date of issue, signature / name, designation (bottom left)

Q.3(A)

Your school is planning to organise an educational trip to the
Natural History Museum for Class 6. As President of the
History Society of Rosewood Public School, draft a notice in
about 50 words informing students about the details of the trip.
Mention the day, date, time and venue. You are Manoj/Mira.

5 marks

Ans. 3(A)

Suggested value points:-

- mention day, date, time and venue

- purpose

- target class

- cost (optional)
(inputs given in the question to be included)
(any other relevant point)

Q.3 (B)

You are Aman/Archana, President of the Drama Club of
Oxford Public School, Bengaluru. On the occasion of Children’s
Day, your club is planning to visit an old-age home. Draft a
notice in about 50 words informing the members of the visit
and asking them to bring some food items to share with the
residents. Mention the day, date, time and venue.

5 marks

Ans. 3(B)

Suggested value points:-

- mention day, date, time and venue

- purpose

- instructions to bring food items to share with the residents
(inputs given in the question to be included)
(any other relevant point)

Q4

Attempt any one from (A) and (B) given below :
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Distribution of marks

Format -1 Content — 3 Expression-1

Q.4A.

You are planning to celebrate your parents 25th wedding
anniversary. Draft an invitation card in about 50 words that is
to be sent to friends and relatives. Mention the day, date, time
and venue. You are Salma/Zubair.

5 marks

Ans. 4(A)

FORMAT - Card format
Suggested value points:
- Organizer / host

- Mention event, day, date, time and venue
- RS.V.P

Q.4B.

You have received an invitation to a party hosted by your friend
on the occasion of his promotion as director in his job. Write an
informal reply in about 50 words accepting the invitation. You
are Vandita/Viraj.

5 marks

Ans. 4(B)

FORMAT - informal letter of acceptance (Sender’s address, Salutation,
Complimentary close, Name )

Suggested value points:
- acknowledge the invitation and congratulate
- mention event, day, date, time/ venue

- acceptance of invitation

Attempt any one from (A) and (B) given below :

Distribution of marks
Format -1 Content - 3 Expression — 1

FORMAT —Sender’s address, Date, Receiver’s address, Subject and
Salutation/ Salutation and Subject, Complimentary close, Name

A)

You are Deepak/Diya. You saw the given advertisement in the
newspaper and wish to apply for the position advertised. Write an
application in 120 - 150 words with bio-data submitting your
candidature.
SARA SOFTWARE TECHNOLOGY
POST: JUNIOR ENGINEER

QUALIFICATIONS

* B.Tech. in Computer Science

* 3 Years experience

* Fluency in English and Hindi

* Good interpersonal skills
Apply within 10 days with detailed bio-data to
Director, HR, SARA SOFTWARE TECHNOLOGY

5 marks
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Ans. 5(A)

JOB APPLICATION
Suggested value points:
Covering Letter :
- reference to the advertisement
- suitability for post
- offer candidature
Bio-Data / Resume / CV:
- personal profile
- qualifications
- experience
- skills
- references
NOTE:

e No marks to be deducted if the Resume / CV / Bio-data is included in
the covering letter.

(inputs given in the question to be included)

OR

(B)

Though the number of children who are educated is increasing,
they have poor communication skills. This is a matter of great
concern. Write a letter in 120 to 150 words to the editor of a
national daily expressing your concerns on the matter and
suggesting ways of improving the reading habits of children.

You are Jayant/Jayanti. You may use the cues given below.

IMPACT OF MOBILE PHONES AND TECHNOLOGY ON
COMMUNICATION SKILLS

5 marks

PROBLEM IMPACT

e Use short forms e Cannot express

themselves

e Can’t express e Impacts employability

themselves opportunities

e Use emojis to express e Impacts social

themselves interaction

Ans. 5(B)

LETTER TO THE EDITOR
Suggested value points:

- expressing concern about poor communication skills
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excessive use of mobile phone and technology

lack of reading habit

suggestions — controlled use of mobile, awareness programs

ideas taken from the given input

(any three)

(any other relevant point)

Q.6 Attempt any one from (A) and (B) given below :
Distribution of marks
Format -1 Content — 3 Expression -1
FORMAT - Title and By line
(A) Teenagers nowadays are full of energy and enthusiasm.
However, their energy needs to be channelized in the right
direction. Write an article in 120-150 words on the topic
‘Channelising the Energy of Teenagers’. You are Sandeep/
Sandhya. You may use the following cues.
Problem Solution
e Early access to technology e Keep them busy in S marks
productive  activities
e Too much freedom e FEngage in useful hobbies
Lack of purpose Focus on purpose and
values
e (Casual attitude e (Open communication
channels
Ans. 6(A) ARTICLE WRITING
Title- Channelising the Energy of Teenagers/ (any other suitable title)
Suggested value points :
- identify their potential
- give them opportunities and responsibilities
- encourage them 5

engage them in useful activities

inculcate values

ideas taken from the given input

(any three)

(any other relevant point)

OR
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B)

You are the student reporter of SSB School, Guwahati. Your
school recently organised a science exhibition. Write a report of the
exhibition to be published in the school magazine in 120 - 150
words. You are Manas/Madhusmita. You may use the cues given

below.

SCIENCE EXHIBITION

SATURDAY, 15TH MARCH, 2023

VENUE MULTI-PURPOSE HALL
INAUGURATION BY Dr. BOSE (leading scientist)
PHYSICS

CHEMISTRY rojects

BIOLOGY

COMPUTERS

Working models and charts

Display of Robots

5 marks

Ans. 6(B)

REPORT WRITING
Title- Science Exhibition/ (any other suitable title)
Suggested value points:

- what, where , when , how

inauguration

theme and kinds of exhibits

ideas taken from the given input

(any three)

(any other relevant point)

SECTION—C
( Literature )

40
marks

NOTE: The objective of this section is to test a candidate’s ability to
understand, evaluate, interpret and respond according to the prescribed text
through short & long answer type questions. All responses may be accepted as
correct with consultation of the HE, if they have been duly supported by the
facts drawn from the text. The student should be able to justify his / her

viewpoint.

Attempt any one of the two extracts (A) and (B) given below :

6X1=6
marks
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(A) Read the following extract and answer the questions that follow :

Driving from my parent’s
home to Cochin last Friday
morning, I saw my mother,
beside me,

doze, open mouthed, her face
ashen like that

of a corpse and realised with
pain

that she was as old as she
looked but soon

put that thought away, and
looked out at Young

Trees sprinting, the merry children spilling
out of their homes.

Q.7AG) Choose the option that displays the same poetic device as used in the

extract.

(a) deafening silence (b) swaying softly and slowly

(c) pitter-patter rain (d) as white as snow
Ans. (i) | (d) as white as snow 1
Q.7A(ii) | What does the phrase ‘realise with pain’ indicate ?

(a) guilt (b) anguish

(¢) wounded (d) revelation
Ans.(ii) | (b) anguish 1

The poet describes her mother as
Q.7A(ii) | L old

I1. wise

I1I. quick

IV. weak

V. strong

Choose the most appropriate option :
(a)Iand IV (b)ITand V

(c) IIT and IV (dIand V

Ans.(iii) | (a) Iand IV 1

Q.7A(iv) | Answer in one word.
On seeing her mother dozing, open mouthed, the poet felt

sad/ pained/ anguished/ grieved/ that she was as old as she looked/ that she
was going to die soon 1

Ans.(iv) | (any other suitable answer)

Q.7A(v) | The merry children symbolise all of the following except
(a) freedom and energy

(b) playfulness and cheerfulness

(c) vigour and health

(d) maturity and innocence

Ans.(v) | (d) maturity and innocence 1
Q.7A(vi) | Which of the following is an apt title for the extract ?
(a) Spring and Winter
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(b) Merry Thoughts
(c¢) Trip to Cochin
(d) My Beautiful Mother

Ans.(vi.)

(a) Spring and Winter

OR

(B)

It would be an exotic moment
without rush, without engines,
we would all be together
in a sudden strangeness.

Q.7B(i)

What does ‘it’ refer to?
(a) travelling in the train
(b) spending time together
(c) moment of silence

(d) without rush

Ans.(1)

(c) moment of silence

Q.7B(ii)

Complete the analogy correctly. DO NOT repeat the used example.

Without rush, without engines : repetition ::
Sudden strangeness :

Ans.(ii)

alliteration

Q.7B(iii)

Identify the phrase from the extract which suggests ‘no hustle and
bustle’.

Ans.(iii)

without rush/ without engines

Q.7B(iv)

Who is ‘we’ referred to?
(a) all human beings

(b) fishermen

(c) people who create war
(d) poets who write poems

Ans.(iv)

(a) all human beings

Q.7B(v)

On the basis of the extract, choose the correct option with reference to I
and II.

I. There is an urgent need for mankind to introspect and live in harmony.
I1. We should put an end to all destructive activities.

(a) Lis true but II is false

(b) I1 is true but I is false

(¢) Both I and II are true

(d) Both I and II are false

Ans.(v)

(c) Both I and II are true

Q.7B(vi)

Fill in the blank with one word with reference to the context.
The moment when everyone keeps silent will be

Ans.(vi)

exotic
( any other suitable answer)

Q.8

Attempt any one of the two extracts (A) and (B) given below :

4X1=4
marks

A)

Read the following extract and answer the questions that follow :

To make sure, I walked over to a newsboy and glanced at the stack of
papers at his feet. It was The World, and The World hasn’t been published
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for years. The lead story said something about President Cleveland. I’ve
found that front page since, in the Public Library files, and it was printed
June 11, 1894.

Q.8A() Answer in one word :
The World is the name of a that the narrator glanced at.

Ans.(i) | Newspaper/ paper

Q.8A(ii) | Complete the sentence :
The significance of the year 1894 was

Ans.(ii) | thatit was-

- the year printed on the newspaper

- the year he had travelled to, at the Third Level
- a peaceful era

- the time prior to World War I

- a confirmation of the time mentioned

(any one)

(any other suitable answer)

Q.8A(iii) | The phrase ‘Lead Story’ means
(a) story about VIPs

(b) story about the President

(c) news given greatest prominence
(d) news read by a prominent actor

Ans.(iii) | (c) news given greatest prominence

Q.8A(iv) | Identify the textual clue that allows the reader to infer that the author
had reached the third level. (Clue : a line)

Ans.(iv) | ...it was printed June 11, 1894/ ...The World hasn’t been published for years

OR
B) Read the following extract and answer the questions that follow :
Derry : Not in a fire, I got acid all down that side of my

face and it burned it all away. It ate my face up. It
ate me up. And now its like this and it won’t ever
be any different.

Mr. Lamb : No
Derry : Aren’t you interested ?
Mr. Lamb : You’re a boy who came into the garden. Plenty

do. I’'m interested in anybody. Anything. There’s
nothing God made that doesn’t interest me. Look
over there ... over beside the far wall. What can
you see?

Q.8B(i) Complete the sentence appropriately, with reference to the extract.
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Derry refers to acid eating him up because

Ans.(i)

acid destroyed his life/ people started staring at him/ he felt rejected and
dejected
(any other suitable answer)

Q.8B(ii)

Derry tell Mr. Lamb, ‘Aren’t you interested?’
What are the things that interest Mr. Lamb as per the extract ?

Ans.(ii)

anybody/ anything/ everything made by God
(any other suitable answer)

Q.8B(iii)

Select the option that best describes Derry and Mr. Lamb in the extract.
(a) Derry : bitter ; Mr. Lamb : positive

(b) Derry : friendly ; Mr. Lamb : talkative

(c) Derry : scared ; Mr. Lamb : authoritative

(d) Derry : mature ; Mr. Lamb : calm

Ans.(iii)

(a) Derry : bitter ; Mr. Lamb : positive

Q.8B(iv)

Which of the following is an apt title for the extract?
(a) Acid and Fire

(b) Boy who came to the garden

(¢) God and his Presence

(d) Different Interests

Ans.(iv)

(b) Boy who came to the garden

Q.9

Attempt any one of the two extracts (A) and (B) given below :

6X1=6
marks

A)

Read the following extract and answer the questions that follow :

He had gone to the December 1916 annual convention of the Indian
National Congress party in Lucknow. There were 2,301 delegates and
many visitors. During the proceedings, Gandhi recounted, ‘“a peasant
came up to me looking like any other peasant in India, poor and
emaciated, and said, “I am Raj Kumar Shukla. I am from Champaran,
and I want you to come to my district’!”

Q.9(A)(i)

Which of the following do you infer from the last sentence ?

(a) Champaran was a major city.

(b) Champaran was a popular destination.

(c) He wanted the Indian National Congress to be in Champaran.

(d) There was a problem in Champaran which needed Gandhi’s
attention.

Ans.(i)

(d) There was a problem in Champaran which needed Gandhi’s attention.

Q.9A(ii)

Select a suitable word from the extract to complete the following analogy.
adventurous : risk-taking :: starved :

Ans.(ii)

emaciated

Q.9A(iii)

On the basis of the extract, choose the correct option with reference to I
and II

I. Raj Kumar Shukla met Gandhi during the proceedings of the annual
convention of Indian National Congress.

I1. Raj Kumar Shukla was a lawyer from Champaran.

(a) Lis true but II is false.

(b) I1 is true but I is false.

(¢) Both I and II are true.
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(d) Both I and II are false.

Ans.(iii) | (a) I is true but II is false.

Q.9A(iv) | The purpose of Raj Kumar Shukla’s visit was to

Ans.(iv) take Gandhi to Champaran
(any other suitable answer)

Q.9A(v) | Rewrite the sentence by replacing the underlined phrase with its
inference.
A peasant came up to me looking like any other peasant.

Ans.(v) who looked poor/ starved/ emaciated
(any other suitable point)

Q.9A(vi) | Answer in one word.
Gandhi met Shukla in

Ans.(vi) | Lucknow

OR

B) Read the following extract and answer the questions that follow :

The ironmaster assumed that he felt embarrassed because of his
miserable clothing.
“Please don’t think that I have such a fine home that you cannot show
yourself there. He said..... “Elizabeth is dead, as you may already have
heard. My boys are abroad, and there is no one at home except my oldest
daughter and myself. We were just saying that it was too bad we didn’t
have any company for Christmas. Now come along with me and help us
make the Christmas food disappear a little faster”.

But the stranger said no, and no, and again no, and the ironmaster saw
that he must give in.

Q.9B(i) | Select the option that completes the given sentence appropriately.

The iron master assumed that the peddler did not want to come to his
home because

(a) the peddler had something to hide.

(b) the peddler had a shabby appearance.

(c) the peddler feared his secret would be out.

(d) he lived alone with his daughter.

Ans.(i) | (b) the peddler had a shabby appearance.

Q.9B(ii) The peddler’s refusal to accompany the ironmaster made the ironmaster
(a) angry.

(b) more stubborn.

(c) feel humiliated.

(d) accept defeat.

Ans.(ii) | (d) accept defeat.

On the basis of the extract, choose the correct option with reference to the
two statements given below.

I. The ironmaster has a very expensive home.

II. The ironmaster looked forward to company at Christmas.

(a) I can be inferred from the extract but II cannot.

(b) I cannot be inferred from the extract but II can.

Q.9B(iii) | (¢) Iis true but II is false.
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(d) I1 is the reason for I.

Ans.(iii) | (b) I cannot be inferred from the extract but II can. 1
Select the suitable word from the extract to complete the following
analogy.
Q.9B(iv) dead : alive : : appear :
Ans.(iv) | disappear 1
Identify the textual clue that allows the reader to infer that the
QIB(v) |, . .
ironmaster is sympathetic towards the peddler.
- please don’t think that I have such a fine home that you cannot show
yourself there
- now come along with me and help us make the Christmas food disappear a 1
little faster
Ans.(v) | (any one)
Q.9B(vi) Based on the above extract choose the statement that is true for the
’ ironmaster.
(a) He is a good judge of character.
(b) He prefers spending Christmas with this family.
(c) He is soft spoken and compassionate.
(d) He is firm and decisive.
Ans.(vi) | (c) He is soft spoken and compassionate. 1
Q.10 Answer any five of the following in about 40 -50 words each : 5X2=10
marks
Distribution of marks:-
CONTENT-1 EXPRESSION-1
(a) What was strange and unusual about M. Hamel’s dress and conduct on
the last day ? (The Last Lesson)
Ans.10(a) | Suggested value points:-
Dress
- special dress/ wore on inspection and prize days only/ green coat,
frilled shirt, embroidered black silk cap
Y2+ Vat+1
Conduct
- taught with great patience/ didn’t scold/ spoke kindly/ emotional/
iron ruler under his arm
(any other suitable point)
(b) Why were Aunt Jennifer’s fingers fluttering ? What does this speak of
her married life ? ( Aunt Jennifer’s Tigers)
Ans.10(b) | Suggested value points:-
fingers fluttering
- nervous/ terrified/ massive weight of uncle’s wedding band Vs 4 Vot ]

married life
- unhappy/ oppressed/ burdened/ ordeals of married life
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(any other suitable point)

© What does Anees Jung mean by the expression ‘children becoming
partners in survival ?” ( Lost Spring)
Ans.10(c) | Suggested value points:-
- work / earn their livelihood as ragpickers
- supplement/ contribute to family income/ support their parents 1+1
(any one)
(any other suitable point)
(d) How does nature contribute to our good health ? (A Thing of Beauty)
Ans.10(d) | Suggested value points:-
- keeps bower quiet for us
- helps in sleep full of sweet dreams/ sound sleep
- de-stresses/ provides solace/ makes us calm 1+1
(any one)
(any other suitable point)
(e) Why was Jansie feeling sad when she heard about Sophie’s desire to open
a boutique ? (Going Places)
Ans.10(e) | Suggested value points:-
Sophie was impractical/ had unrealistic dreams/ both earmarked for biscuit
factory 1+1
(any other suitable point)
® What does Robert Frost mean by the expression ‘Selfish Cars’?
What poetic device is used in this expression ? (A Roadside Stand )
Ans.10(f) | Suggested value points:-
Selfish Cars
- selfish/ unsympathetic attitude of people in the cars Va+ Va+1
Poetic Device
- transferred epithet/ personification
Q.11 Answer any two of the following in about 40 -50 words each : 2X2=4
marks
Distribution of marks:-
CONTENT-1 EXPRESSION-1
(a) What did Charley learn about Sam from the stamp and coin store ?
Ans.11(a) | Suggested value points:-
- Sam had bought old style currency
- exchanged currency worth eight hundred dollars 141
(any one)
(any other suitable point)
(b) Why did Zitkala-Sa resist the shingling of her hair ?
Ans.11(b) | Suggested value points:- 1+1
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- heard from her mother that in their culture unskilled warriors/ cowards had
their hair cut or shingled
- she did not want to submit without protesting/ struggling first

(any one)
(any other suitable point)

(c) What did Dr. Sadao and Hana see come out of the mist ? How did they
react ?
Ans.11(c) | Suggested value points:-
What
- saw a man/ a black shape flung up out of the ocean Vs + Vot ]
How
- ran quickly towards in that direction
(any other suitable point)
Q.12 Answer any one of the following in about 120 -150 words : 5 marks
Distribution of marks:-
CONTENT -3 EXPRESSION - 2 (fluency - 1 + accuracy — 1)
(a) Saheb and Mukesh are victims of the apathy of the Government and
society. Support your answer with a rationale.
Ans.12(a) | Suggested value points:-
- both Saheb and Mukesh worked as child labour/ partners in survival
- both caught in endless spiral that moves from poverty to apathy to
greed to injustice
- lack of — awareness and implementation of child labour laws/
schemes for basic amenities/ political will
- education inaccessible to both 5
- Saheb employed by tea stall owner despite labour laws/ lost his
freedom
- bangle making imposed upon Mukesh/ burdened by stigma of caste/
caught in vicious circle of Sahukars, policemen etc.
(any three)
(any other suitable point)
OR
(b) What attributes of Subbu raised him to the status of No. 2 at Gemini
Studio ? Substantiate your answer with evidence from the text.
Ans.12(b) | Suggested value points:-
- ability to look cheerful
- tailor- made for films- came easy to him
5

- had a sense of loyalty- entire creativity to his principal’s advantage/
inspired when commanded/ resourceful (scene of fight between
tigress and rat underwater)

- addressed his poetry to masses (composed original stories, poems in
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- charitable and improvident (his house, a permanent residence for
dozens)
(any three)
(any other suitable point)
Q.13 Answer any one of the following in about 120 -150 words : 5 marks
Distribution of marks:-
CONTENT -3 EXPRESSION - 2 (fluency — 1 + accuracy — 1)
(a) ‘Tiger King’ is the story of a leader who is whimsical and autocratic.
Justify the above statement quoting evidences from the text.
Ans.13(a) | Suggested value points:-
- mission of killing hundred tigers to prove astrologer wrong/ may kill
even a cow in self defence
- banned tiger hunting- disobedience would lead to confiscation of
wealth and property
- gave up looking after state affairs
- offered different kinds of hunts to British officer/ happy that
although lost three lakh of rupees, retained his kingdom 5
- got married to complete his mission
- confused where tigers went after killing all tigers in his kingdom
- feared by his subjects- fired officers in anger/ threatened Dewan
- demanded wooden tiger from the shopkeeper as a gift
(any three)
(any other suitable point)
OR
(b) How is visiting Antarctica important to understand the Earth’s past,
present and future ? Support your answer with a rationale.
Ans.13(b) | Suggested value points:-
- relatively pristine- never sustained human population
- holds in its ice-cores half-million-year-old carbon records
- provide insights into Cordilleran folds and pre-Cambrian granite
shields, ozone and carbon, evolution and extinction s

- melting glaciers- a sign of threat/ global warming

- simple ecosystem- lack of biodiversity, shows big repercussions of
smaller changes in environment

(any three)
(any other suitable point)
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We, the undersigned, have gone through and we have found it to be correct to the best
of our understanding.
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